| | ~AEM 1905
: ,§MPIQ celculzhion é{ra ‘{'UM‘\'\BI VQ(“”}])

Vo= [ ——— —{ton lecfore slides
d : F AF C.DP 3

des cent we,c‘gld: W. = Wlﬂ'% t W et Wflroff.uanf

W, = B70z2 + 10,502 — Y.870=
W, = 52,27,/ (46 = 3.27Lb
£(A)

sic demsity | p = 0,007 M qi = 0.0749 Kb [
- e (32hpsD) £
p= 0,00 234 /Qfo-‘sz/pttl

Paraéﬁu'l‘e Lavea - 3¢ dismeter chute with G dia, S/’[/( hole
| A= -t
A= (18 = (3in)
Ao = 1315 T = ‘T‘?Om‘(l Pc)":_ 687

—

Cliaj Ca@.{\‘&(‘c&(’ @ivev\) C:pp = l.&
This, | vi= ] 2% 3.2045
111 000234 24" 7 6 ErBEx 1S
p B

ME NI A\ v ’ |- > Units wetked,
¥ > T expected
‘ Comge of

éb{e desceut

$Peeds.




